Std. dev. d N, /dndg

Ratio to ATLAS

N
N

N

=
e¢)

1.6

1.4

1.2

0.8

0.6

0.4

0.2

[EEY

0.5

7000 GeV pp
L B B B

Underlying Event
I T | T I T I T I T I T |_
Std. dev. N, (In| <25, p_>0.5GeV)

m ATLAS
—a— Pythia 8.308 default
---¥-- Pythia 8.308 tune-AU2
-~ -- Pythia 8.308 tune-AU2lox
--8-- Pythia 8.308 tune-AU2loxx
—— Pythia 8.308 tune-AU2m

Rivet 3.1.10, = 100k events

©'

T (90)

| <

Lo

! ©

| (@)

: ™

a %

] =

/'/ u >5

Al . ©
(& o e
=
[Y] O

- c

S

(]

Q

- [%2]

. )

\ o

6 o

(&)

=

N

—0.5

L 1 L 1 L 1 L | L 1 L 1 L 1 L 1 L | L 1 L 1 L 1 L 1 1 L L I\ L +

N |
S 10 15 20
P, (leading track) [GeV]



	Contents
	Page 1


